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1. Some important Don’ts

1) Do not use or place this unit near sources of high temperature, in high humidity, in
direct sunlight or in dusty place for a fong time. It may cause damage to the cabinet or
functional failure of the LS| and other components, and result in poor performance.

2) Do not open the cabinet. If the unit is defective, please contact your nearest Panasonic
Electronic Calculator service center.

3) Do not use thinner, benzine or alcohol to clean the cabinet. Please use a silicon-cloth or a
cloth dampened with soap and water.

4) Do not keep the batteries inserted in the unit so as to prevent leakage if it is operated
with AC power or unused at all for a long time (one month or so.)"

2. Main functions

This model is designed as scientific calculator, claiming the following calculating functions.

1) Display: 5-digit mantissa with algebraic sign, 2-digit exponent with algebraic sign, or 8
digit numeric with algebraic sign, and signs.

2) Number entry either in floating point or in scientific notations.
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3)
4)
5)
6)

7)
8)
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1).

a)

Algebraic operation for arithmetic functions.

Automatic repeat and constant operations for arithmetic functions and y* calculation
One accumulating memory.

Scientific functions:

sinx, cosx, tanx, sin"* x, cos™! x, tan’ ' x, €%, 10%, Inx, logx, yX, 1/x, /X, x*,m,
Degrees/Radians/Gradians switch for trigonometric functions. ¥
Chain calculations in scientific functions (except y*) and D.MS— operation in four rulesg:, ¢

Before operation

Dry battery or AC household line as the power source.
Dry Batteries
Remove the battery cover and insert three “AA"’ size dry batteries to the battery case int
specified'{+). (—) position. As the battery power nears exhaustion, the display will;
gradually become dark, finally disappear and calculations may not be performed.
Replace the batteries with new ones. |

b) AC Household power line
Use Panasonic AC adaptor JL-046, JL-047 (E) or JL-048 (E, K), specially designed for
the calculator. Plug it in to AC Household power line and the calculator. Do not use
Panasonic AC adaptor JL-026, JL-027, JL-028(E) and AC adaptor of other makers.
Disconnect the power cord of the AC adaptor from the wall outlet whenever the unit

is not in use.

JL-046: This adaptor is designed for power sources of 120V.

JL-047 (E): - This adaptor is for power sources of 115V (110V~120V) and/or 230V
(220V~240V) by selector switch. Please set the switch correctly at your
local voltage before connecting the unit to mains power.

JL-048E (K): This adaptor is for power sources of 220V~240V.

JL-048: This adaptor is for power sources of 230V~240V.

2) Power switch
Turn ON the power switch. Then “O" appears at the first digit from right in the display.
The unit is ready for calculations.



3) Display

The display has nine digits display tubes under two way disptay methods. One is 8 digits =

numeric with algebraic sign, overflow sign, memory occupied sign and function sign. The
other is 5 digjts mantissa with algebraic sign and 2 digits exponent with algebraic sign
(exponent display). In the exponent display, the left-most position is used to display the
algebraic sign of the mantissa, overflow sign, memory occupied sign and function sign.
The next 5 position to the right are used to display the mantissa. The two right-most
positionsdisplay the exponent. The position between the mantissa and exponent will disp-
lay the minus exponent sign.
(Example: When the display is —1.2300 — 04, this means —1.23x107%.) The calculated
result will be displayed in the following method.

1. 1 x 1073 < Iresult! £ 99999999. or result = Qe in floating decimal point display
3§ 3.0 0 © L T O
o S S ey T SO B Y M A
t
sign
2. 99999999, < Iresult | or |result{<1x 1073 woeeeeee in mantissa and exponent display

(exponent display system)

PR S

Exponent

Mantissa
/ _\/ 0
o g u b g1
H .o IO 77 3d 1L
t t
( sign') ( Minus sign)

In case of exponent display system, the decimal point appears right after the first digit

number of mantissa.

sign display:
Result overflow sign

Minus sign

; Function sign ,
"% ¢ |This sign appears when F key is pushed)

Memory occupied sign

4) Number entry A . . N
Maximum 8 digits number in floating decimal point display, maximum 5 digits of

mantissa and 2 digits of exponent can be entered in exponent display. Exponent

be entered when the number keys are depressed after EE key, and are

numbers can . ‘
umber entered in the display,

effective in two digits last entered. If more than 6 digits n

the EE key function is not effective.
i 5 -
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Key and Switch functions
Numerals key (0~9)

Sets the figure.

Decimal point key (+)

Sets the decimal point.

Clear entry/Clear key (%)

During number entry, a depression of the CE/C key will perform a clear entry function.

The cleared entry number may be replaced by a following number entry. Function
mode (F) and overflow condition will also be reset. When the CE/C  key is depressed
twice, all calculation and entries will be cleared except memory contents.

Plus key (+)

Performs addition.

Minus key (—)

Performs subtraction.

Multiplication key  (x)

Performs muttiplication .

7) Division key (<)
Performs division .

8) Equal key (=)
Performs calculation or repeat calculation if the +, —, x, + or yX key has been previous-
ly depressed and the command of such calculations has been given.

9) Memory plus key (M+)
Accumulates the contents of display into the memory store.

10) Recall memory key (RM)
Recalls the memory contents to the display.

11} Clear memory key
Clears thé_mvé’mory c

12) Enter Exponent key (EE)
The EE key is used to enter the exponent numbers during number entry. When the EE
key is depressed as the first key for number entry, then the mantissa is automatically
made to be 1, and enter-exponent mode is set. Following numeral key depressions enters
a power-of-ten exponent which shifts right-to-left through the exponent digits. The last
two digits entered constitute the exponent. If the EE key is not the first key for number
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13)

14)

16)

16)

17)

entry, its depression terminates the entry of mantissa and also sets the enter-expon-
ent mode.

Function key (F)

Its depression calls the “‘@’’ sign (Function sign) to the display and enables you to start
scientific calculations as in function modes indicated above each key. Two consecutive
depression relieves F key function.

Trigonometric function key (sin, cos, tan)

Performs sine, cosine and tangent calculations. |f F key is depressed before this key,
inverse trigonometric (sin™! x, cos™ x, tan™! x) is performed.

Common and Natural logarithms key (log, In)

Performs common and natural logarithms calculation. If F key is depressed before this
key, Anti-logarithms (10%, eX) is performed.

Square root key (% )

Performs square root calculation. If F key is depressed before this key, square
calculation (x?) is performed.

1/x key (1/x)

Performs reciprocal calculation. If F key is depressed before this key, performs entry

- 8 -

18)

19)

20)

21)

of Pi (3.1415926).

X-M key (X-M)

Exchanges the displayed number with the memory contents.

y to the xth power key(yX)

y to the xth power calculation is performed if the following operational sequence is
observed. That is to enter number for y, depress yX key, enter number for x and
depress = key. If F key is depressed before this key, exchanges the displayed number
with the previous by entered number to perform reciprocal calculation.

Sign change key (+/-)

Changes the sign of entered the mantissa or the exponent number, If F key is depressed
before this key, performs Degrees-Minutes-Seconds to Decimal Degree conversion.
Degree/Gradian/Radian mode switch

Selects Degree, Gradian,Radian mode for trigonometric or inverse trigonometric
operation.



5. Overflow condition
The following operations simulate the overflow condition and call the overflow sign. In this
case, depress CE/C key for resetting.

6. Automatic constant calculation
Automatic constant calculation can be performed in all four rules and yX calculation.

1 Basietonr rales After calculation is completed with = key being depressed, the function (+, —, x, +, or
* | Calculated result|> 1050 yX) and the last operator number are automatically stored as a constant factor. Same
* Divided by 0 == type of calculation can be continued by entering a new number and depressing the
2} Meriory calc;Jlation i corresponding function key or = key, as shown in sample calculations.
* Memory contents| 2 10°%° g : .
(In this case, the last calculation does not affect the memory register, and memory 7. Automatic rePeat calculations . ‘
contents registered prior to the overflow are retained.) Repeat calculations can be performed in all four rules and yX calculation by depressing =
3 Seientific calculation key or function key continuously, as shown in sample calculations.
T x=0, | x[=10"" 1Inx, Togx oereeeeennees x<0 8. Calculation range and Accuracy
- : 50
X s x< 0 PR 112 FESTsR——— 10°°< Iresult! Functions PP ——— P —
O et T 10°<| x| X sspssevnm o sy vees y=0,10"< Iresult |
P — 10°< |result] 13, B ansaniinsan i s | x |<6Xx10"% 'aa5|c toar rules 10750 < Ixl < 1059 Bl 15 TR F Bigs
s o, T—— | (except x=0) SRR SR (except overflow condition) A1 iin the 2 diglt
sin-'x, cos ~Ix, 1< x : VX 1/x, x*, D.MS» in division and 1/x

= 11 =



Ixl< 10
sin x (DEG) (except 180n — 0.1 < Ix| < 180n + 0.1
0 =0, 152, 3, s
Ix|< 10
cos x (DEG)
(except 89.9 + 180n < Ix1<90.1 + 180n) +1 in the 6th digit
Ix1 < 10*
tan x (DEG) except 180n — 0.1 < IxI< 180n+0‘1)
( 88+ 180n < Ix1 <92+ 180n
sin’! x, cos™! x 0.01 £ I1x1£0.99
tan! x 0.01 £ IxI< 10%°
1 50 < 50
In x, log x 107 = x < 10%° (except 0.99 < x < 1.01) #1 in the 6th digit
eX Ix1£115.12925 in the exponent
10% Ix| < 50 display, £1in the
" 0<y,10% S yx < 105° 5th digit of
¥ (except 0.99 <y < 1.01) mantissa.

— 12 —

9. Specifications
Computing element:
Power requirment:

Memory:

Operating temperature:

Display:
Calculating speed:
Dimensions:

Weight:

MOS/LSI

AC: 120V+10% (JL-046),
110~120/220~240V+10% (JL-047(E)),
230~240V+10% (JL-048),
220~240V:10% (JL-048E(K))
50/60 Hz. (Through optional AC adaptor)

DC: .45V (3-AAsize dry batteries)

Power consumption:  AC 4W Max.

DC 0.4W Max.

1 Memory

32 to 104 degrees F (0 to 40 degrees C)

Multi-digit fluorescent display tube

1.6 sec. Max.

W. 88mm (3 15/32 inches)

D. 150mm (5 29/32 inches)

H. 32mm (1 17/64 inches)

170g (6 oz.) without batteries . 227g (8 oz.) with batteries
o 18 =
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2)

Consejos importantes

No use esta unidad cerca de fuentes generadoras de alta temperatura, ni la exponga a la
luz directa del sol, lugares muy humedos o polvorientos, ya que puede dafiar el gabinete
o puede ocurrir falla de LS| y otros componentes, reduciendo la eficacia de la unidad.

No abra el gabinete. Si la unidad se descompone, sirvase ponerse en contacto con su
centro de servicios de Calculadbras Electrdénicas Panasonic mas cercano.

No use thinner, bencina o alcohol para limpiar el gabinete. Use una tela de silicio o tela
remojada en agua enjabonada. 3

Si a8 calculadora se usa con CA o cuando no va a usarse por largo tiempo (un mes 0 mas),
quite todas las pilas de la misma.

Funciones principales

Este modelo estd disefiado como calculadora cientifica, cumpliendo las siguientes
funciones de calculo.

Indicator: Mantisa de 5 cifras con signo algebraico, exponente de 2 cifras con signo
algebraico, o signo numérico de 8 cifras con signo algebraico, y signo de exceso.

Registro de numeros en el punto flotante o ®n numeraciones cientificas.

s R e

3)
4)

8)
7)

8)

3
1)
a

Operacion algebraica para las functiones aritméticas.

Repeticibn automatica y operaciones constantes para las funciones aritméticas y calculo
yX

Una memoria de acumulacién independiente.

Funciones cientificas:

sinx, cosx, tanx, sin"! x, cos’ ! x, tan"'x, eX, 10X 1nx,10gx, yX, 1/x, VX, x*,m,
Interruptor de grados/radian/gradian para las funciones trigonométricas.

Calculos encadenados en las funciones cientificas (excepto ¥*) y D.MS — operaciéon en

cuatro reglas.

Antes de la operacion

Funcionamiento con pila seca o corriente alterna

Pilas secas

Quite la tapa de pila e inserte tres pilas secas de tamaifio “"AA’’ en la caja de pilas, en su
posicién especificada (+) (—). Cuando las pilas estan débiles, el indicador se-torna
gradualmente oscuro, y finalmente se oscurece completamente, imposibilitando el
calculo. En tal caso, reemplace las pilas con las nuevas.

15 —



b) Funcionamiento con CA
Use el adaptador de CA Panasonic JL-046, UL-047(E) 6 JL-048(E, K) especialmente

disefiado para la calculadora. Conecte el adaptador al enchufe de CA y a la
calculadora. Tenga en cuenta que no debe usarse el adaptador CA Panasonic JL-026,
JL-027, JL-028(E) y tampoco un adaptador CA de otra marca.

JL-046: Este adaptador esta disefiado para la fuente de alimentacion de 120V.

JL-047 (E): Este adaptador esta disefiado para la fuente de alimentacion de 115V
(110V ~ 120V) y/o 230V (220V ~ 240V) mediante el uso del
selector. Sirvase regular el selector al voltaje de su localidad antes de
conetar la unidad al enchufe CA.

JL-048: Este adaptador es para las fuentes de alimentacion de 230V ~ 240V.

JL-048 (E, K): Este adaptador es para las fuentes de alimentacion de 220V ~ 240V.

2) Interruptor de encendido

Ponga en ON el interruptor de encendido. Luego, “O" aparece en la primera cifra desde

la derecha en el indicador. La unidad queda lista para los céalculos.

3) Indicador

El indicador cuanta con tubos indicadores de nueve cifras en los métodos de indicacion
de dos maneras. Uno es nimero de 8 cifras con signo algebraico, signo de exceso, signo
de ocupado vy signo de funcion (indicador de punto decimal flotante) y el otro es mantisa
de 5 cifras con signo algebraico y exponente de 2 cifras con signo algebraico (indicador
de exponente). En el indicador de exponente, la posiciébn extrema izquierda se usa para
indicar el signo algebraico de la mantisa, signo de exceso, signo ocupado de memoria, y el
signo de funcién, y las siguientes 5 posiciones a la derecha se usan para indicar la
mantisa. Las dos posiciones de la derecha indican el exponente. La posicion entre la
mantisa y el exponente indica el signo de exponente menos.

(Ejemplo: Cuando la indicacién es de —1.2300—04, significa —1.23x1074.)

El resultado se indica por el siguiente método.

1. 1x 1072 £ Iresultado! S 99999999. o regultado =0 ..o
en el indicador de punto decimal flotante

- B S e B
H T I g =l LT |1
t

Signo _ 17 —



2.

99999999. < |resultado| o |resultado]<1 x 1073 .o,
en el indicador de mantisa y exponente (sistema de indicacion de exponente)

mantisa exponente
7 _ I—\ . /-
T Y R I =
=~ ,’ s J 7T 3 I 1 C
t
(Signo) {Signo de menos)

En caso del sistema de indicacion de exponente, el punto decimal aparece a la derecha
después de la primera cifra de mantisa.

Indicador de signos:

Signo de menos Signo de memoria ocupada

Signo de funcion

Signo de exceso de resultado : )
‘e (este signo aparece cuando se oprime la tecla F)

— 18 —

4)

—_

2)

3)

Registro de nUmero

Un maximo de 8 cifras en el indicador de punto decimal flotante. Es posible registrar
como maximo 5 cifras de mantisa y 2 cifras de exponente. Los niimeros de exponente
pueden registrarse cuando las teclas numerales son oprimidas después de la tecla EE, y
son efectivas en dos cifras Gltimamente registradas. Si se registran mas de 6 cifras en el
indicador, la funcion de la tecla EE no sera efectiva.

Funciones de la tecla e interruptor

Tecla numeral (0~9)

Registra el nUmero

Tecla de puntos decimales (+)

Regula el punto decimal

Tecla de borrado de registro/borrado (%)

Durante el registro numeral, una opresion de la tecla CE/C efectuard una funciéon de
borrado de registro. El modo de funcion (F) y la condicion de exceso también se repone.
Al oprimir dos veces la tecla CE/C, se borran todo el calculo y registros excepto el
contenido de memoria.



4)

5)

6)

7)

9)

10)

11)

Tecla més (+)
Efectla suma.
Tecla menos (—)
Efectla resta.
Tecla de multiplicacion (x)
Efectdr la multiplicacion.
Tecla de division (%)
Efectlo division.
Tecla igual (=)
Efectlia céalculo o célculo repetido si la tecla +, —, x, + 0 vX ha sido previamente
oprimica y se ha dado el mando de tales calculos.
Tecla mas de memoria (M+)
Acumula el contenido del indicador en el almacén de memoria.
Tecla de memoria de llamada. (RM)
Llama el contenido de memoria al indicador.
Tecla de memoria de borrado (CM)
Borra el contenido de memoria

12)

13)

14)

Tecla de exponente de registro (EE)

La tecla EE se usa para registrar los numeros de exponente durante el registro numeral.
Al oprimir la tecla EE como la primera tecla para el registro numeral, la mantisa se
regula automaticamente a 1, y el modo, de exponente de registro queda establecido.
Oprimiendo sucesivamente la tecla numeral, se registra el exponente de potencia de
diez que se desplaza de derecha a izquierda a través de las cifras de exponente. Las
ultimas dos cifras registradas constituyen el exponente. Si la tecla EE no es la primera
para el registro numeral, su opresién termina el registro de mantisa y también regula el
modo de exponente de registro. '

Tecla de funcion (F)

Su opresion llama el signo "¢’ (Signo de funcién) al indicador y permite empezar
célculos cientificos como en los modos de funcion indicados sobre cada tecla. Dos
opresiones consecutivas liberan la funcién de la tecla F.

Tecla de funcidn trigonométrica (sin, cos, tan)

Efectla calculo de seno, coseno y tangente. Si se oprime la tecla F antes de esta tecla,
puede efectuarsecélculo trigonométrico inversa (sin! x, cos™' x, tan™' x),



15)

16)

17)

18)

19)

Tecla de logaritmo comun y natural {log In)

EfectGia calculo de logaritmo comun y natural. Si se presiona la tecla F antes de esta
tecja, es posible efectuar el calculo anti-logaritmico (10%, eX).

Tecla de raiz cuadrada (/X )

Efectlia célculo de raiz cuadrada. Si se presiona la tecla F antes de esta tecla, es posible
efectuar el calculo de raiz cuadrada (x?).

Tecla 1/x (1/x)

-Efectia célculo reciproco. Si se presiona la tecla F antes de esta tecla, es posible

efectuar el registro de Pi (3.1415926).

Tecla X-M (X-M)

Cambia el niumero indicado con el contenido de memoria.

Tecla de potencia y a xth {yX)

El calculo de potencia y a xth se efectla si se observa la siguiente secuencia
operacional. Es decir, para registrar nimero para y, presione la tecla yX, registte el
nimero para x y presione la tecla =. Si se presiona la tecla F antes de esta tecla, cambie
el numero indicado con el anterior por el nimero registrado para efectuar el célculo
reciproco.

20)

21)

5.

1)

Tecla de cambio de signo (+/—)

Cambie el signo del nimero registrado, la mantisa o el exponente. Si se oprime la tecla
F antes de esta tecla, puede efectuarse la conversién de grados-minutos-segundos a
grado decimal.

Interruptor de modo de grado/gradian/radian

Elija el modo de grado, gradian, radian para la operacidén trigonométrica o inversa.

Condicion de exceso
Las siguientes operaciones simulan la condicién de exceso y llama el signo de exceso. En

este caso, oprima la tecla CE/C para la reposicion.

Cuatro reglas basicas

* |Resultado calculado| 2 10%°

*

dividido por O

2) Calculo de memoria
*|Contenido de memorial 2 10%°

(En este caso, e! Ultimo dalculo no afecta el registro de memoria, y se retienen los

contenidos de memoria registrado antes del exceso.)

~ 23 —



3) Calculo cientifico

50

1/x - ~x=0, [x|=10
JX x<0

I 10%=<| x|
fanX-cereeeeeeerrineanns 10°< |resultado|

sin-1x, cos—1x, " 1< | x|

6. Calculo automatico de constante

Inx, logx seoveeeerees x=0

eX, 10X cvevssvocnvane 10%< Jresultadol

e O —— y<0,10%< | resultado|
1) M =wsmins soanmsans | x |<6X10 0

(excepto x=0)

El cédlculo automatico de constante puede efectuarse en las cuatro reglas y en el célculo

y*X. Después de terminar el calculo con la tecla = oprimida, la funcion (+, —, x,+, 6 ¥

"

y el Gltimo nUmero operador se almacenan automaticamente como un factor de
constanté. Puede seguirse el mismo tipo de célculo registrando un nuevo nGmero y
presionando la correspondiente tecla de funciéon o la tecla =, como se muestra en los

calculos ejemplares.

7. Calculos automadticos repetidos
El céalculo repetido puede efectuarse en las cuatro reglas y el calculo y* se realiza
o la tecla de funcion continuamente, como se muestra en los

presionando la tecla =
célculos ejemplares.

8. Gama de caélculo y Exactitud

Funciones

Gama permisible para registro

[ Exactitud

Cuatro reglas basicas
Calculo de memoria

V ox 1/x, x?, D.MS»>

10%° £ Ix 1< 10%° .
(excepto la condicidon de exceso)

+1 en 8a cifra
+1 en 7acifraen
division y 1/x

sin x (DEG)

Ix1< 10*
excepto 180n — 0.1 < Ix1 < 180n + 0.1
0= 0 152 8y wessunss

|

tl1en 6a cifra




—— 9. Especifications
*1 en Ba cifra Elamento computador: MOS-LSI
s & (DRG] {excepto 89.9 + 180n < Ix|< 90.1 + 180n) Requerimiento de energa:  CA:  120V£10% (JL-046)
Ix1< 10? 110~120V/220V~240V+10% (JL-047, JL-047E)
tan x (DEG) excepto 180n — 0.1 < Ix1< 180n + 0.1 230V~240V+10% (JL-048)
88+ 180n < Ix1< 92+ 180n 220V~240V+10% (JL-048E)
. - e o 50/60Hz
SIT 5, BOST 0.01 = IxI=0.99 (mediante el opcional adaptor CA)
tar ! x . 0.01 < Ixl< 10%° CC: 4.5V (3 pilas secas del tamafio “"AA"")
Consumo de potencia: CA: 4W Max CC: 0.4W Max.
Inx,logx 10750 £ x < 10°° (excepto 0.99 <x < 1.01) ) Memoria: 1 memoria
» e . . : "Ten:nperatt'xra de trabajo: 32a 194 Qrados F (0 a 40 grados (?) N
. +1 en la quinta ndlca.dor. ) Tu}bo indicador fluorescente multi-digito
10% Ix1< 50 cifra de mantisa Velocidad de calculo: Méx. 1,6 seq.
i ol Tadiesdor Dimensiones: Ancho: 88mm (3 15/32"’)‘
Vv 0<y, 1050 Syx <10%° dis expenEnte, | Foncjio. 150mm (5 29/3% )
(excepto 0.99 <y < 1.01) Alto:  32mm (1 17/64")
Peso: 170 gramos (6 0z.) sin pilas 227 gramos (8 0z.) con pilas
v R
- 26 —
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b)XHREEREER

(AT E RN Et 2 Panasonic 2 JL-046, JL-047 (E)BJL-048 (E, K) %

BRI ﬁf&%&%ﬁﬁ]\f?ﬁi@m%%ﬁﬁgﬁo A~9] {% F Panasonic & JL.-026,

JL-027,JL-028 (E ) % & RIS i1 55 & HAQRGER 2 S s es . I8 A4t BAREE,

MER A T R8s, A AE RS, MO S E R B R R R R

JI-046%Y 1 AEIEIME S 120 (REIEATERET &

JL-047(E) Bl A#EESEAMNI5K (110(K~1201K) & / B230{K (220K ~2401K )
BHZRESMN, BHASHMEERARAREMZ ER, Rkt
HE BREER,

JL-048%Y: A% 558 N 2301K ~ 240K E &,

JL-048E(K)BY © A< #45 2358 FI 12 220K ~ 240K B i,

2) & IRHARY
BEBE (ON) MR, BIBURES ABGH 1 B 10 o & a5

= 30 =

3)BUR
BURE DA 9 (BERE, BN HEARTE, R 8 (g H, AR, #biE
R, ORI REBITIR (GFEVNBENEUR) , B—TER 5 EEUE I A B R
R 2 (IBUEREHE R BUTIR (TRBEER) o TRBREUREY, RSO LIBURBUIE S 77 2
BTFSR, SN, IRMERESR, LIREBITR, WA S 5 @EOrEATHEUSR
BUB 7o A 2 M BEERIEE BUEE > FITS 8 2 A7 & A LILBUR B e BTk
GRI : BER%A—1.2300—048%, #732—1.23X1074),
A RS SR TR A R ER R

1. 1X107°< | 5% | 99999999, sAEF=0 ---oorren FH BN R
A B B I I Y
H oY, o0 o
t
(#5)

= F =



2. 99999999. < |#&R | IR <1XL0oeeenn Bff 565 B AR BB 1k 4) 8K
(EBHEUR R ) ANBCBEF BB, S A 8 (LBKH o A5 AR EB5 K 2 (UBKeT LUER, S8 E E
By e | SRR TR T SO B, SRR 2 AR AN, W S BB 6
/T — N\ ; (I8, HIE ESIhhs sk,
5 D23 uC Lvg
/O T S Y Li 1 1
t t
G R, MBI LA B 55 1 B F Ao DEcEs (0~9)
FSBORE TS B, /MRS R A B B a b | ATLLE B
N ] 2)/NBEksR ()
R _ | T LT BB,
= s = mmanaw | )ik / ERR ()
' : HEBUPIE FCE / CHly, &RIEMESIER,
R [ B P ; BRSBTS, GBS K (F ) KA ks E i, 4 F
D R RAE (e WBGUHR UET F SHISHBLEECHE) CE / CHti%, W iclemash, ik 2t smEn,
= 33 =

- 32 —



4)mxgg (+)
AT HiE.
5)MmukE (—)
AT HE o
6) ikt (X)
EITTIE
)&k (&)
EITRE
8) &g (=) B
MBECHEITHE T+, —, X, =50y Ril4 HAET S HeE, AETHERKE
8,
9) e kR (M+)
FRRNERB RIS,
10) [ E &8 (RM)
[l BB BR,

. - .

11) &R &SR (CM)
HRECIENE,

12)#ETE8 # (EE)
E ER7EEBRERLGEIRE, SHE ESAERE 8, Bia#ms1, il
HESEBUER P E . HERMNBTRILEIORERR, S8R FhAm LB,
BARAHER 2 (LBEMIEE. IMEE ERIBERNE 18, MERTeRIbgatA
E AR Bk,

13) gt (F )
HICSRAVBUR AL B o7 7F9R (BOBRTTIR).  IHi%, WIR Fod &8ss R s
EITRHR AR, A T, HIMEBRTF SEIhAE,

14) =K BUE (sin, cos, tan)
HE1Tsin, cosKtanfBGEHE, GNRILHSRLIN e HEF 88, HLEIT Z M35 (sin-1x,
cos-1x, tan-1Xx,),

16) B A8 (/ x)
BT ARG, RIE LI R IR F 88, HDEIT RS (x°) 3,

— 35 —



17) Bk (1/x)
HEATHIBGEE L, AR RS LIRT e F2 F 8, N33 « (3.1415926)
18)X—Mi# (X—M)
JERUR B H S IRIN A
19) y 2 x FHH (y¥)
y 2 x RHEAE, K FHRIEET, Wi y ZBH%, % yX5, ot x ZBHR%
e = Bbo IRHRILHEATEIR F B, ACBURE H& Lal eSO H, EITHEE .
20) o s is (+/—)
BEPOES BUEEE Y SUREC PR, AR SR DIRT et F 8, HIERE — 5 —%
Lo/ NBUREBE
21)f8 5 /9N / By £ S BARS
SRR A B = RO A, N, B

e BB —=

5. @HIKRE

MOIE S R AL REE SE ki A9k LR, 3§4% PCE/CHELIEEITHE

1) S5 AU
< |FERER] =107
«FxLLO

2) SR
< RAENE 210

(LY, BREAEETHERRANE, MibaTracENE I AREE.)

3) BT
1/x seovenrennsmnnnennnns x=0, | & |:10'50
X eeeeeeeeeasaeiaiins x<0
g sesansnss e 10%<| x |
LT —— 10°< }{‘5%1
sin-1x, cos-1x, " 1<ix|

Inx, logx «ooeeeereeeeeees x=0

5 1 T ——— 10%< |45 R |
N TOTREE v=0,109<|$F|
DI o T S———— | x |<6X10

(B4t x=0)

= BF =



6. BB EHRFR in x (DEG) ‘xrilA;ijozsonﬁm < IxI< 180n + 0.1
PURIER R vx RHHL AT BB E B, T S MR, TR (+, —, R
X, =R yS) Ri%k—EEEE W E OGS EBINE, LA E T o BB Rk X< 10°
THHEBER L B RMAGET, HAH, HBEH R, wes DB (BR¥+ 89.9 + 1800 < IxI < 90.1 + 180n)
1765 6 {8k
Ixi< 10*
7. BEIREHE tan x (DEG) (K{j‘:ﬂ 180n — 0.1 <Ix!<180n+0.1)
Mt DR BGR, BUNEGTIMAIR >} HEMRE . HBE R, et 1800 < i< 32+ 1800
sin"! x, cos™ ' x 0.01 £ 1x1£0.99
8. EtEHE RIEFES tan x 0.01 = Ix1< 10%°
H B T TretE In x, log x 100 Sx < 10%° (BROF 099 <x<1.01) | 1 %561
= Z
m < 1 (e 8 (8K L 2 11512925 B LS,
R 10 S xI < 10% 1L 7 R o<y 10 E <107 P73 5 1L
V10 D, | (R BB L/t % (B 099 <y < 1.0m B,

-~ 39 -
— 38 —



IR -
ATRETE
AERER

i &
BIERE .
B R
SEEE
#
E R

MOS-LSI

5t L AC120V +10% (J1.-046)
110V ~ 120V /220V =~ 240V +10% (JL-047 (E))
230V ~240V+10%(JL-048)
220V ~ 240V +10% (JL-048E (K))
50/60Hz (& HE MG HAITIRE)

B © 4.5V (31 “AA” RlizE )

HE D ACL WA

DCO.4W Kk

HAOE

#1032—1041 (FEK 0 —405%)

R R BOE

HoK1.6%)

14 0 33806 (883EK) R 533

TEBELE 6%t 4oi§ £ E 8%L

By (150%6K) & [ 1850 (323

Sample calculations Modelos de calculos

Bt W& K

Calculation Sequence of Numeral & Function Entries Displayed Answer
Calculo Secuencia de entradas de numerales . Yy Respuesta indicada
de funciones
B % BERAHZRE EXHER
1. Four Rules Cuatro- [ 2]
45+264—41= 45 (¥ 264 (=1 41 [=] 268.
0.82X9X1.23= 82(X)9(X1.23(=) 9.0774
—2X12+9= 2R (X 12(F19 (=) —  2.666666
(1500—3)=25X | 1= 1500(=13(=125(X) 11 (=) 658.68
(1.23X10°)X(5.6X 10°)= 1.23(EE) 9(X) 5.6 (EEI9 (=) 6.8880 18
(220X 10°%)+(8.2X10%) = 220 (EEl6 (-1 (=) 8.2 (EE 3 (=] 2.6829-08

= A1 =




2. Constant calculation

Constante calculo

12.3+45.6=
98.7+45.6=

12.3—45.6=
98.7—45.6=

(120X 103) X (4.7X10°8) =
(33X 103) X (4.7X1076)=
(120X 10%)+(—45.6)=
(33X 10%) = (—45.6)=

2314=
89'4=

12.3(+145.6 (=)

98.7 (="

12.3(=145.6 (=1

98.7(=

120 (EE)3(X 4.7 [EE! 6 = (=)

33 [EE' 3 (=

120 (EE) 3 () 45.6 F4 (=)

33(EE'3 (=]
23 (y¥ ta(=]

89 (="

57.9
1443

33.3
53.1
0.564
0.1551

2631.578
723.6842

80.6156
535.977

s A =

3. Repeat Calculation Repeticion BB ¥ F

IT+17+17+17= nEFEEE=E 68.
12.567—9.234—9.234—9.234= 12.567(=19.234 (=1 (=1 (=] - 15.135
12.56X5.12X5.12X5.12=  12.56(X]5.12(=! (=] (=] 1685.7746
12.564.1+4.1+4.1= 12.56 (= 4.1 =) =) (= 0.1822375
4. Memory calculation Memoria &€ &
(12x3)+(45X6)= (tH) 12(X) 3 (=) M+ 45 (X 6 (=) M) (M) I 306.
[(125X 109) X 12]+[(5.6X 10%) X8]= (G| 125(EE)6(X) I12(=| M+ 5.6(EE8 (X 8(=]MJ () 1~ 5.9800 09
123+56= (M) 123 M+ (+1 56 (=] I~ 179.
123—78= (M) (=1 78 (=] i 45.
9X 123= 9 (X (' (=] " 1107.
5. Reciprocal calculation, Inverse, {3 ¥
120 = = = L=y (=)
330+ 456—43 230+ 456 (= 43 (% 120(F I =V (= 0.1866251
. .




6. Scientific Function Funcion cientifica FHZiK#k

4) Anti — Logarithmic function, Logaritmico inverso,  CEfEEREL

1) Trigonometric function Functién trigonométrica, = kK
sin30" = (Degree) we e o 30 (s’ L
c0s?25" Xtan15°=(Degree) g & gy 25 (cos) (F 1 (XF) (X)) 15 (tanl (=) 0.2200917
cos50= (Gradian) oes 'o” 50 (cos) 0.707107
tanfr= (Radian) kw2 XEEE 1E @ 125396
2) Inverse trigonometric function  Functiobn trigonometrica inversa, X — fEKE
sin10.456= (Degree) &0 456[:L5T-' 27.1293
cos™!0.25= (Radian) cs om0 5(F | os! 1.318116
3) Logarithmic function, Functién logaritmico, KK
In(7.4X10%3)= 7.4 (EE) 23 (In) 54.9609
In5+In2l = 50ni(+] 21 I (=] 4.65396
2+log5. I = 2+ 5.1log(=! 2.70757
:ogﬁ(z{%ié%) = 3log) (¥ 2 logl (= 1.5849616
= 44 —

es= 5(F1(eY 148.413
= 6 (ix) 7= (F) (€¥) 0.846482
1052 — |02 1= 5.2(F1 % (=) 2.1 (F) {08 (=) 158363. 11
5) Root, Reciprocal, Powers calculation,

Raiz cuadrada, Reciproco, Potencia célculo,

BAE A, B, AR
/I+/5= 3Vx(F) sx (=] 3.9681187
(1+v/6)x2= | Fe@(X) 2(=) 6.8989794
V/2.3X10%2= 2.3 (EE 42 (/X) 1.5165 2!
3' = 2345 1z 4.2643-04
% %: 2 (F) 30 (= 0.8333333
& 3x|0,5)>'<(4 rxomy=  3-3ED6EE(X) 4.7 1264 (E) (W 6.4474 16

v G




23,0.”%_6:73: 230(F) 456 (=) 43 (=) 0.0015552
2| 9= 21 (&% 904 (=) 1.2590-12 |.
V2= 2 30 (=) I.25992
.22+ 1/n= 1.2 @ FH F ) (wl (=) 4.0882209
6) Degrees-Minutes-Seconds to Decimal Degree conversion.

Conversion de gado, minuto, segunto a grado decimal.

f1, 5, WEHRBINBER,
35°21'6" = 35.2106 (F | 35.351666

’ : ) (Degree)

sin18°21' 57" = e o 18.2157(F) X (sin! 0.315083
7. Practical sample calculations, Célculo ejemplar tratico.  E%ZH HR{yl

e Calculation of resonance frequncy, Calculo de frecuendias de resonancia,

HIRPE G H
|

S =
= 2r/LC  2x4(560X 109X (220X 10-2)

¥ 1 - A—

L LossouH 560 (EE) 665 (X) 220 (EE) 12645
c=zpf EEX:XEDEE o

e Compound interest calculation.  Calculo de intéres compuesto. HAREHE.

'} — (|+0'07>m P =200,000 (Principal, Principal.‘ Ej:ﬁ? ‘
A=P (' + 71) — 2 i =0.07 (Interest rate, Relacion de intéres, Fi|# )

q =2 ( Number of calculations in a year,
Numero de célculos en un afio,
—ENZFHERE)

n=5 (Years, Afos, 80

A= ( Accumulated total of principal and interest
Total acumulado de principal @ intéres
BERFIEZRE)

= 20.
5() 2 (=) EW .07(%) 2(F) 1 (=) (& (1) (X) 200000 (=) B

= QY =



® Calculation of angle (g) Célculo de angulo (9)

O=cos! (LY _ oo (EXT 8

m.‘"un 5(X) (= @ 7% @@
s ‘ Y 6(X) (=167
oo e =165 ) (W) 2
57.
(De7grlgeg

— 48 —

Note:

Nota:

Definit integral,

Integral especificado, ZEFE5

n ud
g 2sinxdx= [ —cosx]t =—(cos % —cos0)=
we Momn  (F) (@) (3 4 (=] leod (=) 0leos) (=] B 0.292893
e Hyperbnlic function, Function tigonométrica hiperbolica, AR KR
X __ gp—X X -X X =X
sinhx=% ze coshx=% ;e tanhx=—z,—+%,
sinh|.23= 1.23(F) (€9 (=) () (£) 2(=) 1.5644687

While in scientific calculation such as sinx, cosx, tanx, sin"'x,cos 'x, tan’'x, Inx,

logx, eX, 10%, yX , the memory contents will be cleared.
El célculo cientifico como, sinx, cosx, tanx,sin ' x, cos ' x, tan ! x, Inx, logx, eX,
10%, yX, el con tenido de memoria quedra dorrado.
R} ERS, 1 sinx, cosx, tanx, sin-'x, tan-'x, lnx, logx, eX, 10X, yX
TN EITHERR

s BY =



